ZHRETLOBEDHEDARIZONT (SHSE4A1BHE)

A NFEERESSEDIE2IFICEIE, FERLOBEDOHITOLNTARLET,

TR SR
%%&Eugémﬁi ﬁé‘l‘ WE ﬁﬁﬁ”i@&"ﬂtﬁ
F SRR AHHE
= (N) (%) B4 (N) (N) (%) ER R
= 40
HEm 3
1% | ERMGEEETOIRE 48 191 |®&&+L 2
RIEAED 2
RIgamENF 1
88 35.1 FERK
= 29
E52:1 2
BICEEOMBXIIRBRELELT =
M\ pgBEAWE 40 16 |mEt 2
BT R CER B ARS) 1
BlEEGERMEIARS) 6
FE 40
FEBER 1
FEDOBTE =
O
3R %Ei?igﬂzﬁ%% 53 211 | R RRE 1 53 21.1 FEH
EX O
TERBELOBE HHEIHE 2
FEFEL 1
FEOILEIALBIERABE) 3
FE 31
RE 1
FEDBTE
4R (BREROBHE 41 163 |REEMAE 6 41 16.3 FER
(B EETHEMEOBE
REEME 2
KEEME 1
B () =
5% Fﬁﬁ‘i?ﬁﬁ’k{ 48 191 [¥EEEE 15 48 19.1 =Rk
BREB OBHE E 1
2R 11
FHRE 1
. . . 3 1
2 FIE=30)ii = 5
S EEE D BULEBAR 2
EREBEREOBE i SiEEE 1
64 BEZEREHEROBERE. EE 21 8.4 =alB 21 8.4 =Em
P RUVEROBE : SEoEBEE ] : !
BXZEREHRROBE = "
BEREHRZECERRREOBHE I
EAZEEBRENEE RE !
BXZERBERE 1
BEXEHZERBERE 1
EEREEBRE 1
&&t 251 100.0 251 251 100.0




REESBRERMER

EE AR LRI R aat 2E B b D ER S
= (SRS DB
= (N) (%) B4 (N) (N) (%) ER R
H¥a 11
1R | B 13 100 13 1000 | H¥HE
B8 (LA LBIAKE) 2
&t 13 100.0 13 13 100.0




ERBHEHER0)

- grf&ﬂ!ﬂ%ﬁﬁ?%i &5t Nz Bl _E oD RS
ISR T S L) | ) B4 N | | e | o
= 2
1% | ER M EFEITORTE 3 214
T 1
3 214 FEHK
o [FIBEORBXIRBRELELT| . =* 0
L P Ao e i S
. e 2
TEOBE
W Epmons 3 SR 1 3 214 | TEK
AR | EB DTS 1 72 |EX&E 1 1 7.2 FEH
EEORE e 2 .
M\ emerns s AOBE 5 S e . 5 57 | 2E®
25 1
68k [BEERUEHDET 2 14.3 2 14.3 ERK
ES 1
&5t 14 100.0 14 14 100.0




